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γw = 9.8 kN/m3Ldc4A6Z
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γ sat = 16.8 kN/m
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γ t = 18.0 kN/m
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σA0
= 18.0 × 3.0 + 18.8 × 8.0 + 16.8 × 5.0 = 288.4 (kN/m2)

uA0
= 9.8 × (8.0 + 5.0) = 127.4 (kN/m2)@E�¥'

σ′

A0
= σA0

− uA0
= 288.4 − 127.4 = 161.0 (kN/m2)
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σA1
= 18.0 × (3.0 + 8.0) + 16.8 × 5.0 = 282.0 (kN/m2)

uA1
= 9.8 × 5.0 = 49.0 (kN/m2)@E�¥'
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= σA0

− uA0
= 282.0 − 49.0 = 233.0 (kN/m2)
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161.0
= 2.04 × 10−2
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Sc = ε · Hc = 2.04 × 10−2
× 10.0 = 0.204 (m) = 20.4 (cm)
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cv = 5 × 10−3 cm2/s
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Tv = 0.848
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H=5.0 m = 500 cm
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t =
Tv · H
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cv

=
0.848 × 5002

5 × 10−3

= 4.24 × 107 (s)

= 490 ( à )
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